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®) Find the square mots of —I5 « L.

Solution

Ticst we naed to pubs —f3 +1 iwto polas foom:
modudlus ¢ = J(:r:h—z TR & =2,

d@MM a:afd’aM(_L\}—a)= %r&wcwmagw
IV\@/ZTT)

- =3+ L

2(cos () 15(F)).

"Tha Sw.l ic fo find 2 sudn bats 2°
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G | adcaging s all o, we gt tob ot Stuae

m0ots oF 2t e %=Jz(ws(%r>*4:93“(§%>>
amd 2 = (2 (cos ((_%f\f{s'm(%).
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OJ) Tind Lo Ffth voots of 6L,

Solidtow e «lg(bow o e piocadive as in @
At pus 6i in polor Form :
o didur - \J6%-6
WW - here we ampot wse ous uwsuad 7[9”““/”* """’”/""‘fj

arctan, sina we camnot divide Lj 4=0. But

a?rau)a /;,c-{-bqe Y C,'? 95_172

and we see fab aly agmwaé" s £

We weu to find values of 2 eath 27= 6i = 6(cfB) +isin(T))

l,u,,‘\y7 the formudla from class, we bawe toats, for sucl. 2,
2= V6 ad 2 ha aguwents Zry Zrrle )

S €ne S here

{for k=0,1,2,3,4
@.{.Wﬁ I+Z_*)_V:I Ir{__‘f_'ﬂ':if
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/o S _lo {0{— 5 -
TI,\MS{L,, .F\,(Hﬁ mo'é( QJ, EL are = U—é(cog(]l%){-isim[?g)))
236 (s (T Hian(D)) | 2fg(cos (75 )+ isin(F)),
s
2= N8 (s(Fhisn(F), 2= s (cosC ) 153,
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